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The figures in the margin indicate
Jull marks for the questions.

(@

(b)

Answer any ten questions.

Define Security services. List the
categories of Security services.
5

Consider an Automated teller machine
(ATM) in which users provide a Personal

. Identification Number (PIN) and a card

for account access. Give examples of
confidentiality, integrity and availability
requirements associated with the
system and in each case, indicate the
degree of importance of the
requirement. 5

Contd.
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10. (@)

(b)

11. (a)

(b)

What are the roles of public key and

private key in public cryptosystem ?
5

Explain RSA algorithm with example.
5

Perform encryption and decryption
using RSA algorithm for the following

. p=7; q=11; e=17 and M=8.

5

In a public key system using RSA you
intercept the ciphertext C= 10 sent to
a user whose public key is e=5, n=35.
What is the plaintext M? 5

12. Write short notes on : (any two)

(@)
(b)
(c)
(d)

2x5=10
Message Authentication Code
Firewall R RY 3

Meet in the Middle Attack < /
Masquerade. 2
* \
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